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Use switch statements to solve the following problem:

A company pays its employees as follows:

· Managers receive a fixed weekly salary

· Hourly workers receive a fixed hourly wage for the first 40 hours they work, then 1.5 times the hours they work for overtime

· Commission workers receive $250 plus 5.7% of their gross weekly sales

· Pieceworkers receive a fixed amount of money per item for each item that they produce

Write a program that will compute the weekly pay for the employees of the company. Each employee is identified by a paycode (for example paycode 1 for managers, paycode 2 for hourly workers etc.). You must ask the user (payroll clerk) to enter the employee’s paycode, then depending on their paycode the program should ask for the appropriate information. For example you should ask for the number of hours worked if the employee is an hourly worker. This information should be asked for within each case statement.

Write the algorithm of the program before you jump in and code. It will help you write the code correctly the first time around. 

I have not specified how the output should look as I’m leaving it to your own creativity. The main thing though is that the objective of the program is clear after running, as is the output.

Once you have completed the program let the TA or myself know so that we can grade your program.

Place your completed program folder in the “CS150-01 Lab” drop box. If you do not complete the program during the lab time, then you have till next Tuesday at 8am to submit your program.
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